Problem 1

Starting integer for a and b (1 to 120)?1
Ending integer for a and b (1 to 120)?1
There is no solution

Do you want to continue (y/n)?y
Starting integer for a and b (1 to 120)?10
Ending integer for a and b (1 to 120)?20
Pythagoras numbers set 1 is : 12     16     20

Pythagoras numbers set 2 is : 15     20     25

No more solution 

Do you want to continue (y/n)?y
Starting integer for a and b (1 to 120)?40
Ending integer for a and b (1 to 120)?80
Pythagoras numbers set 1 is : 40     45     58

Pythagoras numbers set 2 is : 40     75     85

Pythagoras numbers set 3 is : 42     56     70

Pythagoras numbers set 4 is : 45     60     75

Pythagoras numbers set 5 is : 48     55     73

Pythagoras numbers set 6 is : 48     64     80

Pythagoras numbers set 7 is : 51     68     85

Pythagoras numbers set 8 is : 54     72     90

Pythagoras numbers set 10 is : 60     63     87

Pythagoras numbers set 11 is : 60     80   100

Pythagoras numbers set 12 is : 65     72     97 

No more solution  

Do you want to continue (y/n)?y
Starting integer for a and b (1 to 120)?119
Ending integer for a and b (1 to 120)?120
Pythagoras numbers set 1 is : 119   120   169

No more solution

Do you want to continue (y/n)?y

Starting integer for a and b (1 to 120)?34
Ending integer for a and b (1 to 120)?10
There is no solution 

Do you want to continue (y/n)?n

Marking Scheme

2 marks for each set of correct answers.                   Total   10

Correct prompts for inputs                                                     2

Correct numbers of solution sets                                            1

Correct last message                                                               1

Correct Output Format                                                           1                                           

Problem 2

INPUT2.TXT

5

31/12/99

01/01/80

01/01/01

29/02/97

01/25/99

Expected Output :

31/12/1999 : FRIDAY

01/01/1980 : TUESDAY

01/01/1901 : OUT OF RANGE

29/02/1997 : NOT EXIST

01/25/1999 : FORMAT INVALID

Marking Scheme

Correct Date Format                                  2

Correct Output Format                               3

2 marks for each correct answer     Total 10

Problem 3

An integer less than 10000?0002
Sum of prime factors = 2

An integer less than 10000?2468
Sum of prime factors = 621

An integer less than 100000?5005
Sum of prime factors = 36

An integer less than 100000?9973
Sum of prime factors = 9973

An integer less than 100000?9999
Sum of prime factors = 118

Marking Scheme

Correct Prompts                            1

Correct Format                             1

Correct Answer for set 1                   1

3 marks for each rest of the sets   Total 12    

Problem 4

Enter an expression?1+1
2

Enter an expression?-6*4*5/9
-1.3333333333E+01

Enter an expression?1+2+4*3-89/2
-2.9500000000E+01

Enter an expression?-5/2+4*3+6*7/8


           

1.4750000000E+01                       

Enter an expression?4*5–6/0

Error : Division by zero

Marking Scheme

3 marks for each correct set              Total    15

